(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	10,386 (B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
9 CFR 54.1 and 9 CFR 79.6(a)(8)	Designated Scrapie Epidemiologist Training and Approval (State/Tribe)	none	20	1.00	20.0		5	0	(3)	0
9 CFR 54.2	Cooperative Agreement or Grant Workplan (State/Tribe)	none	37	1.00	37.0	5.00	185			0
9 CFR 54.2	Not for profit	none	3	1.00	3.0	10.00	30			0
9 CFR 54.2	Cooperative Agreement or Grant Financial Plan (State/Tribe)	none	37	1.00	37.0	10.00	370			0
9 CFR 54.2	Not for profit	none	3	1.00	3.0	10.00	30			0
9 CFR 54.2	Cooperative Agreement or Grant Quarterly Report and Recordkeeping (State/Tribe)	none	37	4.00	148.0	10.00	1,480			0
9 CFR 54.2	Not for profit	none	3	4.00	12.0	10.00	120			0
9 CFR 54.2	MOU Forms - Family (State/Tribe)	none	10	1.00	10.0	2.00	20			0
	SUBTOTAL				270.0		2,240	0.0		0
	TOTAL OF ALL PAGES				1,231,831.0		296,154	522,698		710,355
TOTA	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c		155,053		1,754,529		1,006,509			

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN		ļ.	
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
9 CFR 54.3(b)	Request for Information: Record of Animals Moved or Record of Animals Acquired (Business)	VS 5-18 and 5-18A, or equivalent	10	1.00	10.0	1.00	10			0
9 CFR 54.3(b)	State/Tribe		2	2.00	4.0	1.00	4			0
9 CFR 54.3(b)	Individual Animal Information Report (Business)	VS 5-20 or equivalent	10	1.00	10.0	1.00	10			0
9 CFR 54.3(b)	State/Tribe		2	2.00	4.0	1.00	4			0
9 CFR 54.3 (b) and 9 CFR 54.8 (g)	Scrapie Epidemiology Report (Business)	VS 5-19 or VS 5-19D	10	1.00	10.0	5.50	55			0
9 CFR 54.3 (b) and 9 CFR 54.8 (g)	State/Tribe		2	2.00	4.0	5.50	22			0
	Appraisal and Idemnity Claim and Continuation Sheet (Business)	VS 1-23, 1-23A	10	1.00	10.0	1.00	10			0
9 CFR 54.4(a) and 9 CFR 54.5	State/Tribe		1	1.00	1.0	1.00	1			0
9 CFR 54.5	Written Agreement/Certification (Business)	none	10	1.00	10.0	0.25	3			0

- 1				1		1
	SUBTOTAL		63.0	119	1 0	0
- 1	SCBIOTAL		05.0	113	1	1

SUMMARY OF INFORMATION COLLECTION

APHIS FORM 71

SUMMARY OF INFORMATION COLLECTION

USDA-APHIS

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
9 CFR 54.6	Inventory and Calculation of Animal Value (Business)	VS 1-24 or equivalent	2	1.00	2.0	3.00	6			0
9 CFR 54.7(d)	Receipt of Disposal Expenses (Payment of Indemnity)	none	10	1.00	10.0	0.17	2			0
9 CFR 54.7e	Report for the EPA: Exempted Disinfectants Used (business)	none	10	1.00	10.0	0.50	5			0
9 CFR 54.7(e)	State/Tribe	none	18	1.00	18.0	0.50	9			0
	Flock Plan and Recordkeeping (Business, including breed registries)	none	10	1.00	10.0	1.00	10	10.0	10.00	100
9 CFR 54.8	State/Tribe	none	2	1.00	2.0	1.00	2	2.0	10.00	20
	SUBTOTAL				52.0		34	12.0		120

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
9 CFR 54.8 (g)	Post Exposure Management and Monitoring Plan (PEMMP) and Recordkeeping for Plans (Business)	none	15	1.00	15.0	0.17	3	50.0	5.00	250
9 CFR 54.8(g)	State/Tribe		10	2.00	20.0	0.17	3	10.0	5.00	50
9 CFR 54.8(f); 9 CFR 54.21	Report Suspect/Dead Animals (Business)	none	800	1.50	1,200.0	0.17	204			0
9 CFR 54.8(f); 9 CFR 54.21	State/Tribe	none	50	4.00	200.0	0.17	34			0
9 CFR 54.8 (d)	Scrapie PEMMP Inspection Report and Recordkeeping (Business)	VS 5-19C	50	1.00	50.0	0.25	13	50.0	5.00	250
9 CFR 54.8(d)	State/Tribe		5	2.00	10.0	0.25	3	10.0	5.00	50
	SUBTOTAL				1,495.0		259	120.0		600

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	(Col. I x J)
		,		RESPONDENT	,		,		KEEPER	(** *)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 54.9, 9 CFR 79.7	Waiver of Requirements for Scrapie Control Projects (States/Tribes)	none	1	1.00	1.0	1.00	1			0
9 CFR 54.10	Program Approval of Tests for Scrapie (Business)	none	1	1.00	1.0	10.00	10			0
9 CFR 54.10	State/Tribe	none	1	1.00	1.0	10.00	10			0
54.10(h), 9 CFR 54.11(c), 9 CFR 54.21, 9 CFR 79.2(b) (51.10(h), 9	Appeal of APHIS Decisions (Business)	none	5	1.00	5.0	2.00	10			0
CFR 54.11(c), 9 CFR 54.21, 9 CFR 79.2(b) (5), 9 CFR	State/Tribe	none	2	1.00	2.0	3.00	6			0
9 CFR 54.11 (a) (8)	Cooperative State-Federal Scrapie Control Program, Scrapie Test Record and Cont. Sheet (Business)	VS 5-29, VS 5-29A	200	2.00	400.0	2.00	800	3.0	10.00	30
9 CFR 54.11(a)(8)	State/Tribe		30	4.00	120.0	2.00	240	1.0	10.00	10

SUBTOTAL		530.0	1,077 4.0	40
----------	--	-------	-----------	----

SUMMARY OF INFORMATION COLLECTION

APHIS FORM 71

SUMMARY OF INFORMATION COLLECTION

USDA-APHIS

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN						!	
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 54.11(a)(8)	Specimen Submission (Business)	VS 10-4 and 10-4A	1,200	4.46	5,352.0	1.00	5,352			0
9 CFR 54.11(a)(8)	State/Tribe		29	185.00	5,365.0	1.00	5,365	29.0	10.00	290
9 CFR 54.11(a and b)	Request for Laboratory Approval (State/Tribe)	none	1	1.00	1.0	2.00	2			0
9 CFR 54.11(a and b)	Request for Laboratory Approval (Business)	none	1	1.00	1.0	2.00	2			0
9 CFR 54.21	Application for the Scrapie Free Flock Certification Program (Business)	VS 5-22	12	1.00	12.0	0.16	2			0
	Scrapie SFCP Flock Inspection Report (Initial Flock Inspection) - and Recordkeeping (Business)	VS 5-19A	10	1,00	10.0	2.00	20	10.0	10.00	100
	SUBTOTAL				10,741.0		10,743	39.0		390

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(0)	(0)	(0)	(D)	RESPONDENT	(5)	(6)	(1)	(0)	KEEPER	(K)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 54.21	State/Tribe	VS 5-19A	2	4.00	8.0	2.00	16	2.0	10.00	20
9 CFR 54.21	Scrapie SFCP Flock Inspection Report (Annual Inspection Report) - and Recordkeeping (Business)	VS 5-19B	100	1.00	100.0	1.00	100	100.0	10.00	1,000
9 CFR 54.21	State/Tribe	VS 5-19B	10	10.00	100.0	1.00	100	10.0	10.00	100
9 CFR 54.1 and 9 CFR 79.1	Approval of Terminal Feedlot and Recordkeeping (Business)	none	300	1.00	300.0	0.17	51	300.0	52.00	15,600
9 CFR 54.1 and 9 CFR 79.1	State/Tribe		50	2.00	100.0	0	17	50.0	1.00	50
	Owner/Hauler Statement-(business) and recordkeeping	none	100,000	6.00	600,000.0	0.17	102,000	100,000.0	1.00	100,000
	SUBTOTAL				600,608.0		102,284	100,462.0		116,770

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
SECTION OF	DESCRIPTION	FORMS NO (S)	NO. OF	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.	DESCRIPTION	so state)	RESPONDENTS	PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
	Certificate of Veterinary Inspection and Recordkeeping (Business)	VS Form 17- 140 or equivalent	27,500	5.50	151,250.00	0.75	113,438	10,000	0.08	800
9 CFR 79.5	State/Tribe	VS Form 17- 140 or equivalent	50	1.00	50.00	0.50	25	50	34.00	1,700
9 CFR 79.2. (a)(2)	Request by a Breed Registry to Have its Tattoos Approved as Official ID (Business)	none	10	1.00	10.00	1.00	10			
9 CFR /9.2(a)	Requests for Approval of Sheep or Goat Identification Device Types or Methods not Currently Approved (Business)	none	1	1.00	1.00	10.00	10			0
9 CFR 79.2(b)	Application for and Assignment of ID Numbers or Official Tags (including blue tags) and Recordkeeping - (Business)	none	25,500	1.00	25,500.00	0.08	2,040			
9 CFR 79.2(b)	State/Tribe	none	10	100.00	1,000.00	0.17	170	10	17.00	170
	SUBTOTAL				177,811.00		115,693	10,060		2,670

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 79.2(b)	Application for Premises ID and Flock ID Numbers and Recordkeeping (Business)	none	10,000	1.00	10,000.0	0.17	1,700			0
9 CFR 79.2(b)	State/Tribe	none	6	500.00	3,000.0	0.17	510	6.0	85.00	510
	Reporting and Recordkeeping When Identification is Applied (Business)	none	100	12.00	1,200.0	2.00	2,400	173,435.0	1.00	173,435
9 CFR 79.2(b) (1-3), 9 CFR 79.2(g)	State/Tribe	none	25	12.00	300.0	2.00	600	25.0	12.00	300
9 CFR 79.2(f)	Recordkeeping, Animals Moved in Interstate Commerce (Business)	none			0.0		0	173,435.0	2.00	346,870
9 CFR 79.2(h) (3)	Request to Replace Official ID and Recordkeeping for Lost or Replaced Official ID (Business)	none	1,000	1.00	1,000.0	0.17	170	60,000.0	0.08	4,800
	SUBTOTAL				15,500.0		5,380	406,901.0		525,915

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 79.2(h) (3)	State/Tribe	none	50	5.00	250.0	0.17	43	50.0	1.00	50
9 CFR 79.2(k) (2)	Request for Approval to Produce or Renew Approval to Produce Official ID Devices (Business)	none	8	1.00	8.0	1.50	12			0
9 CFR 79.2(k) (2)(iii)	Agreement to Send Official Ear Tags to Specified Individuals (Business)	none	1	1.00	1.0	0.16	1			0
9 CFR 79.2(k) (2)(iii)(B)	Monthly Report of Official Identification Devices Produced (Business) (includes tag manufacturer contracts)	none	3	12.00	36.0	3.00	108			0
9 CFR 79.2(k) (2)(iii)(D)	Data Entry of Offical ID Devices Produced (Business)	none	6	4,000.00	24,000.0	0.25	6,000	5,000.0	1.00	5,000
9 CFR 79.3(k)	Compliance Agreement and Report for Consignments When ID is Applied (Business)	none	100	12.00	1,200.0	0.30	360			0
9 CFR 79.4	Decline to Participate or Provide Information (Business)	none	7	1.00	7.0	0.17	1			0

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

June 4, 2019

IDENTIFICA	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN									
					REPORTS				RECORDS				
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	0.00 RECORD-			
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS			
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)			
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)			
9 CFR 79.4(c)	Hard Owner Natification of Designation of Flocks	none	10	1.00	10.0	1.00	10		(6)	0			
14 1 LD /4 5	Permit for Movement of Restricted Animals (Business)	VS 1-27	5	1.00	5.0	1.00	5			0			
9 CFR 79.5	State/Tribe	VS 1-27	2	1.00	2.0	1.00	2			0			
9 CFR 79.6	Consistent State Application - Application for Scrapie Classification, Classification Renewal, or Reclassification of a State/Tribe	VS 5-24	50	1.00	50.0	1.00	50			0			
	Epidemiology and Identification Compliance Report (State/Tribe)	none	50	12.00	600.0	1.00	600	50.0	40.00	2,000			
	New Burden												
9 CFR 79.2(b) (1), 79.2(b)(3)		VS 5-11, 5- 11A, 5-12, 5- 12A	100.00	12.00	1,200.0	1.00	1200			0			
	Not-For-Profit		25.00	12.00	300.0	0.75	225			0			
	SUBTOTAL				2,167.0		2,092	50.0		2,000			

SUMMARY OF INFORMATION COLLECTION USDA-APHIS

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS				RECORDS		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS	
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
0 CED 70 2(f)	Owner/Hauler Statement and Bill of Sale - Private Sector	VS 5-13	155,000.00	2.0			24,800	Ü	.,	0	
9 CFR 79.2(k) (2)(iii)(D)	Data Entry of Official Identiifcation Devices Produced and Assigned (Recordkeeping) - Private Sector		6.00	4,000.0	24,000.0	0.25	6,000	5,000.0	1.00	5,000	
9 CFR 79.2(b)	Application for and Assignment of Identification Numbers - Private Sector - Business and Farms		25,500.00	1.0	25,500.0	0.08	2,040			0	
	State, Local, and Tribal Governments		6.00	1,000.0	6,000.0	0.08	480			0	
	Application for Premises Identification Numbers and Flock Identification Numbers and Request to Change Information Associated with these Numbers - Private Sector - Business and Farms		25,500.00	1.0	25,500.0	0.17	4,335			0	
	State, Local, and Tribal Governments		6.00	1,000.0	6,000.0	2.00	12,000			0	
9 CFR 54.8(b), 79.2 (a)(3), 79.2(f)	Recordkeeping, Identification - Private Sector				0.0		0	25,500.0	2.00	51,000	
9 CFR 79.3(k)	Amendment of a Livestock Facility Agreement - Private Sector		10.00	1.0	10.0	0.20	2			0	

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement Restrictions, 0579-0101 and Indemnity

OMB NO.

DATE PREPARED

June 4, 2019

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAI	BURDEN			
					REPORTS				RECORDS	
										TOTAL
05051011.05	D.T.O.D.ID.T.O.L	FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF REGS.	DESCRIPTION	(If "none" so state)	RESPONDENTS	RESPONSES PER	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	(Col. I x J)
REGS.		so state)		RESPONDENT	(Coi. D X E)	RESPONSE	(Col. F X G)	REEFERS	KEEPER	(Col. 1 x 3)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
(2)(iv), 54.8(j)	Flock Plan or Laboratory Disinfection Worksheet - Private Sector - Business and Farms		2.00	1.00	2.0	0.50	1			0
	State, Local, and Tribal Governments (to meet EPA requirement)		17.00	1.00	17.0	0.50	9			0
9 CFR 54.1, 79.1	Terminal Feedlot Request for Approval/Agreement and Recordkeeping, Terminal Feedlots - Private Sector	VS 5-10	50.00	1.00	50.0	0.25	13	200.0	4.00	800
	Concurrence with APHIS/State Animal Designations - State, Local, and Tribal Governments		5.00	1.00	5.0	0.17	1			0
	Approval of New Tests or Test Methods - Private Sector		1.00	1.00	1.0	10.00	10			0
9 CFR 79.2(a) (2)	Approval of Alternative ID Devices or Methods - Private Sector		1.00	1.00	1.0	5.00	5			0

SUMMARY OF INFORMATION COLLECTION USDA-APHIS

9 CFR 79.2	Approval/Renewal of Official ID Devices - Private Sector	6.00	1.00	6.0	2.00	12		0
	SUBTOTAL			82.0		51	200	800